Matrices

MATRIX: A MATRIX IS AN ORDERED RECTANGULAR ARRAY OF NUMBERS OR
FUNCTIONS. THE NUMBERS OR FUNCTIONS ARE CALLED THE ELEMENTS OR THE
ENTRIES OF THE MATRIX.




Matrix: A matrix is an ordered rectangular array of numbers or functions. The numbers
or functions are called the elements or the entries of the matrix.
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Assume X, Y, Z, W and P are matrices of order2 xn, 3 xk, 2 x p, n x 3and p x k,
respectively. Choose the correct answer in Exercises 21 and 22.

21. The restriction on n, k and p so that PY + WY will be defined are:
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22. 1t n = p, then the order of the matrix 7X — 57 is:


















